1.

Given that @ = =6, b = 3 and ¢ = 4, find the value of each of the following expressions.
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= — 2
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Diagram not drawn to scale o, /7(,‘-55/;
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Find the size of each of the angles a, b, cand d. [4]

............................ d='g0%7~‘53€15*’he[—‘/3‘81

=, Jdy =

c=...1a1 o
. (o]

d=_ 40 -
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(a) Find the highest common factor of 32 and 40. . [1] o
.............................................. S S0 - 12, S O I W LY ) N
............................................................................................................................... “o_fadurs 140,2,20,1,10,5(9)
(b) Find the lowest common multiple of 6 and 8. 8 fimes fable 1]
N
2 5,16, (1) 32,
............................................................................................. R
................................................................................................................................................................. % 3 - S——
xiC X 1O
(c) Express 02 %05 44 2 fraction in its simplest form. [2]
100 xi0xic
............................ S o &7 RSN SN W e SN LS R s =S & - ST
i0000
= 10 < (0O §§
10 COO - 10
.............................. O i
....................................... e
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4. Mariis painting a rectangular logo.
Her design is shown below.

6
Yellow
Red Blue
| |
I |

Mari needs 380 ml of red paint for her logo.

Find the quantities of blue paint and yellow pqa;_nt she needs for her logo. [2]
........................ Qed..z. % puwof =4[3€0 - 95ml
....................... BLA&:/PCH”\**‘WML
......................... fellw = Yo poak = 180el
Blue paint ... C{S ......................... mi
Yellow paint ... IQC ...................... ml
5. Rhodri’s toolbox contains some nails.
He measures the lengths of all these nails in mm.
(@)
Length of nail, L(mm) | 10<L < 15 | 15<L <20 | 20 <L, <25 (25<L <30|30<L <35
Frequency 12 18 27 39 24
TotAL nails = 1R+18+274+39 +2¢4 - 20
(i) In which group would Rhodri find the median length of nail? [2]
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(i)  On the graph paper below, draw a grouped frequency diagram to show all the data

given in the table.

[2]
Frequency
A
40
30
20 .
104
0 ‘ >
0 10 20

(b) The heads of the nails are all circular.

The head of each nail has a diamster of 2:4mm. /

Ten of these nails are knocked into a piece of wood, so that just the circular metal heads

are seen.

Using an estimate of 7 = 3, calculate the total area of metal that can be seen on the

surface of the wood.

30

You must show your working and give the units of your answer.
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6.

Gwen intends to sell her old computer.
She originally paid £500 for this computer.
Gwen enters the details on an internet selling website.

(@) Gwen would be happy to make a 35% loss.
How much money would Gwen receive if she made a 35% loss in selling her computer?

[2]

(.90 = BXOOD 20O

............................... 5072 2 85

.................................... ek R S —

................................................................................ 2] !75’053

i 05 She _woWld teceve  So0-i1§

............................................................................................................................... =3RS
(b) Gwen is offered £200 for her computer.

What is the percentage(foss)if she sells at this price? [2]
Gt 50200 = $3c0 loss oo
......................................... fmcﬁmloSS-B_M}b

SCO =
....................................................................................... _bo
................................................................................................ e SR —
............................................................................................................... Bt e e
< 60 o

© WJEC CBAC Ltd. (4370-05)

Exag



r &

(a) The nth term of a sequence is 3n? —n.
Write down the first three terms of the sequence.

............................... - 1€ 1l
=l = =7
................................................................................ = JIO

(b

) Find the nth term of each of the following sequences.

(i) 7 18,29, 40,51, ...
S =7
0 ) 410 1)

e
_____ 3(3)-R)
= Qe

e ;ZL,' .......................................

(i) =21 6.3 22,38, ...
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You will be assessed on the @;Iity of your written communication in this question.

During the year, both Lara and Glyn paid for new bikes.
The costs of the bikes are given below.

Lara bought the Lex8E and Glyn bought the Harrier2.

Lex8E Harrier2

Payments made in February, June and October
in the ratio

A single payment of £125 ]
plus { 288
11 monthly payments of £23

: The largest payment is £248 J

Who paid more for their new bike, and by how much?
You must show all your working. 18]
05 Harrec L
_____ hs. = QUK
ark = 31 (248

. - 3

ats, = 15%3) .00
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The table shows some of the values of y =

12

x2 + 10x for values of x from —4 to 3.

Exa

9.
2% -4 -3 -2 -1 1 2 3
y=x2+10x —24 —21 -l -9 11 ALt 39
() Complete the table above. [2]
e N — i S —
Y4=(2) +Jo(—2) b = 2*+ 10(2)
— .......... — ............. ; T R \5:”_ ao .................................................................................
yj= b =20 L Y =

(b)) On the graph paper, draw the graph of y = x? + 10x for the values of x from -4 to 3. [2]

(4370-05)
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(c) (i) On the same axes, draw the graph of y = -10x + 5. ' [2]

(i)  Hence, write down the coordinates of the point of intersection of y = x2 + 10x and
y=-10x + 5. 1]

(d) Marged states,
‘The graphs of y =-10x -5 and y = -10x + 5 are parallel’

Is Marged correct?
Tick the appropriate box and give a reason for your answer. [1]

Yes ‘/ No
hoth have fhe same

...........................................................................................................................................

10. Make g the subject of the following formula.
You must simplify your answer. [3]

.......................................................... squae bolh397f =

39 = h*-f

7= il
..................................................................................................................... 35.”.“.”.“‘“.".“._.”.“.“.“.”.”A“.“.“.”.”.“.“.”.”.“.".".”.u

11. Evaluate 2.34 x 1013 + 1.6 x 1072,
Give your answer in standard form. : [2]
{ {
...................... 223x10° + oubxi0
13
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12. Yellow Sky is a hockey team.
When a player scores a goal, the time taken by the player, from gaining possession of the ball
to scoring the goal, is recorded.

In one season, Yellow Sky scored 40 goals.
The details can be seen in the cumulative frequency diagram below.

Cumulative frequency

45t
o
m EEREERREREEEE AT
35— B AN DR
30 ! ‘ ‘ A
EEE I ! WA

— T I 11 i AR

1 3 I [ AN
25 HE T 8

} ! At
et GA N

20 7 & |

—— /4 I

HEl 1 Tl VW) |
150+ | 71 aRL
10 | '/l' T : ll

— % i
= -t

= i i RN NN I
0e&—— . — — —— > Time (seconds)
0 1 2 3 4- 5 6 7 8 9 0

(a) For what percentage of the goals scored did the player have possession of the ball for

more than 7 seconds? [3]
........................................ ?%ca.\oswoaplagerhcwmjpossessw\fw'essﬂw\
T L pl_qaef......hqy.; ....... Possessia)... foc...m ore. th
................................................................................ e B0 = IS

A0 400 LOO
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(b) What is the median time from gaining possession of the ball to scoring a goal? 1]
Median timeis ... 5 ................... seconds

ol f  result
(c) Calculate the interquartile range of the times from gaining possession of the ball to scoring
a goal. [2]

Interquartile range is ... 4— ........ seconds

(d) Noir Dust is another hockey team.
Noir Dust’s interquartile range of the times from gaining possession of the ball to scoring
a goal is 5-9 seconds.
On average, the scorers from which team spent less time from gaining possession of the
ball to scoring a goal?

Tick the appropriate box.

Yellow Sky Noir Dust Canttell | /]

Give a reason for your answer. _ [1]
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13.

4a°

/15b°
10a° 1055°

Diagrams not drawn to scale

Use an algebraic method to calculate the values of a and b

change sign_ ADD . L L ———

belem line qg = $0@b
A ADD e l ..... 8 ............... qq ..............................................................................................................
e o T TR
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14.

Diagram not drawn to scale

Find the size of angle x.
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|
(b)  In the diagram, O is the centre of the circle and OB is parallel to the tangent at C. .
Diagram not drawn to scale
7\
Calculate the size of DAB. ]
You must indicate any angles you calculate. [4]
A o ) . ‘ _
................................. DAC*%QUsa”'é’ﬂaké;eg:wn/’fheoem
o then...using... Fengent fo caciv 2900, T albemole .qngler. eqical
.............. and. 4. B0C s s0s@le. we get  the 15° andes madked
: A —4S-4LS e
.......................... Q. 360(.‘: s :qo
A P e RS o M-S
c{:,c’ BAC ik q@ .g = l‘F .................................
o S
.......................................................................... se-- RS2 B 4£30 = F°
N\
DAB= .. 11 -
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15. (a) At a supermarket, the time taken for customers to scan 5 items at a self-checkout was
recorded.
A histogram that illustrates the results is shown below.
Unfortunately, the scale on the frequency density axis is missing.
Frequency density
"‘2 A A & B}
- T T T T — : % n
= T EREs
10 Ert 2 s EE e
; | 1 4_4-'7—*_
e
e I
c 6 E '\ 0 1 ..E:- ;i’
EmsEmmmsscassd amspecand s aat
- ! S Immy SERRRRREES EENSIET T —
O- L : Eerr T S REEEEEm. RN R T
Ea B N R mal Bumn e ]
o Bl
= —
AT : EaEEE
1 e F 0TS ?é A E s T d
O 0 5 10 15 20 25 30 35 Time, £ (secon )
It is known that 6 people took between 15 and 20 seconds to scan their 5 items.
(i) Complete the scale on the frequency density axis. [3]
16,0030, B0 AZ Lo
L= Lx5
AN ——— e
B =2 =t
O el X@#T- P, e g
"7 <= height of baf
L gl emm—— O ..............................................................................................................................................
............................................ 58, oupmelsfﬁges
(i) How many people were timed scanning their 5 items? [2]
T Y N A e T —
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(b)  The time taken for staff to scan 5 items was also recorded.
The table below shows the results.

VAN ‘flll-
LAATC

7
Time, 7 (seconds) O<rg4 I 4<r<8 €€ 12 | 12<r< 16 1B<rg<24
7Arerc
Number of staff o | 2 24 8 4
Complete the scale on the frequency density axis and draw a histogram to illustrate the
distribution on the graph paper below. [3]
HEWGHTS = 2 -0 =205 =6  8:-7  4:p0s
of BARS . * % % 5

A
T T T Y 1 7 T RO N
' J i NEERE I ‘?kh‘A—' h"“ﬁ*“f_” i '*“"“‘i‘—*'*"‘

8
3 ~
2
I B A I
i INENN NN RN RN AR :“::_:,::,EEEE [T:::T_i = .
& i . 7 s o — Time, 7 (seconds)

(¢c) On average, which of the two groups of people, customers or staff. were quicker at
scanning 5 items?
Tick the appropriate box.

Customers Staff

You must use the histograms to explain your answer. [1]
ﬁm Aed....orele plq)cffm ........ ... ’L‘jh»z/ ...... BRABED. .. cageii
.................................................................... ot cwlaver holgepe .
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(2]

....................... L&?C:O&S
........... AT T+ e I ——
......... B TR ¢ T LD ——
............................................................ T ———
q
............................................................... L:_\’_

(b) Express the following as a single fraction in its simplest form.
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17. Nesta has drawn the diagram shown below. |
She needs to estimate the area, 4, of the region bounded by the axes and curve.’ ?

\

i

©

/] h h h

Diagram not drawn to scale

(a) Nesta doesn't consider using trapeziums to work out an estimate of the area. i

Her estimate for the area is t

l

A =ch+ah +b/z+%b/z *\

\

Explain how Nesta may have worked out her formula. [2] \

' 0 ~ \

......................................... Nesto. _has wed . techngle  ares fol
................................. Wé\5k35H:psw\dH\ef\aéﬂatglem
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“i=siz's friend, Rikka, states that another estimate for 4 could be found by splitting the
~=gion into trapeziums and a triangle.

Rikka'’s estimate for the area is:

A:%hd+h(a+b+c)

Show that Rikka’s formula is correct.
You must show all your working.

L )(p Cde)ebf(tC&Qf: -------
and split info_ 2 sop arals |

= Q\i\i-ch + ah + bh

......................................................... A Z

T \% common fackor h

END OF PAPER
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